### Q1 School

Answered: 17 Skipped: 0

ANSWER CHOICES	RESPONSES	
Chippewa Falls, McDonell Central Catholic High School	0.00%	0
Eau Claire, Regis High School	0.00%	0
La Crosse, Aquinas High School	0.00%	0
Marshfield, Columbus Catholic High School	0.00%	0
Stevens Point, Pacelli Catholic High School	0.00%	0
Wausau, Newman Catholic High School	0.00%	0
Wisconsin Rapids, Assumption High School	100.00%	17
TOTAL		17

#### Q2 Are you a

Answered: 17 Skipped: 0

ANSWER CHOICES	RESPONSES	
Catholic	100.00%	17
Non-Catholic	0.00%	0
TOTAL		17

# Q3 Catholic Attitudes

Answered: 17 Skipped: 0

	STRONGLY DISAGREE	DISAGREE	UNSURE	AGREE	STRONGLY AGREE	TOTAL
1. I believe that Jesus is really present in the Eucharist.	5.88% 1	0.00%	5.88% 1	23.53% 4	64.71% 11	17
2. The Catholic Church was instituted by Christ.	5.88% 1	0.00%	0.00%	17.65% 3	76.47% 13	17
3. I am proud to be Catholic.	5.88% 1	0.00%	5.88%	47.06% 8	41.18% 7	17
4. It is important to go to Mass on Sunday (or Saturday evening).	5.88% 1	0.00%	5.88%	23.53% 4	64.71% 11	17
5. I believe that God has a calling or vocation for every person.	0.00%	5.88% 1	5.88%	29.41% 5	58.82% 10	17
6. I feel that I have grown closer to Christ this year.	0.00%	11.76% 2	35.29% 6	29.41% 5	23.53%	17
7. I believe that God knows and loves me personally.	0.00%	0.00%	5.88%	41.18%	52.94% 9	17
8. I am willing to speak up to defend my faith.	0.00%	0.00%	17.65% 3	47.06% 8	35.29% 6	17
9. At some point everyone goes either to heaven or hell.	0.00%	0.00%	5.88%	35.29% 6	58.82% 10	17
10. I feel closer to God when I pray.	5.88% 1	5.88% 1	35.29% 6	23.53% 4	29.41% 5	17
11. I must cooperate with God's graces in order to be with Him.	0.00%	0.00%	29.41% 5	41.18% 7	29.41% 5	17
12. Sex is a sacred gift reserved for married couples.	5.88% 1	0.00%	29.41% 5	11.76% 2	52.94% 9	17
13. God creates each person either male or female.	0.00%	5.88% 1	0.00%	11.76% 2	82.35% 14	17
14. Belonging to the Catholic Church is an important part of my relationship with Jesus.	11.76% 2	0.00%	11.76%	35.29% 6	41.18% 7	17
15. Every person has dignity and is important	0.00%	0.00%	0.00%	23.53% 4	76.47% 13	17
16. It is ok to use illegal drugs.	58.82% 10	17.65% 3	11.76% 2	11.76% 2	0.00%	17
17. I enjoy spending time with my family.	0.00%	0.00%	0.00%	47.06% 8	52.94% 9	17
18. Sin offends God and harms me.	0.00%	5.88% 1	5.88%	41.18% 7	47.06% 8	17
19. It is important to avoid occasions that may lead to serious sins.	0.00%	11.76% 2	0.00%	41.18%	47.06% 8	17
20. It is important for me to follow my conscience.	0.00%	5.88% 1	5.88%	35.29% 6	52.94% 9	17
21. I have learned a lot about being Christian by listening to homilies.	11.76% 2	23.53%	11.76% 2	35.29% 6	17.65% 3	17
22. The Church should stop teaching that homosexual actions are sinful.	64.71% 11	0.00%	17.65% 3	5.88%	11.76%	17
23. I have a duty as a Christian to help	0.00%	0.00%	5.88%	41.18%	52.94%	

those in need.	0	0	1	7	9	17
24. I believe that I must avoid the temptations of sin to live a good life.	5.88%	0.00%	11.76% 2	35.29% 6	47.06% 8	17
25. If I commit a serious sin, I can be forgiven by making a good confession.	0.00%	0.00%	11.76% 2	35.29% 6	52.94% 9	17
26. The Sacrament of Reconciliation is important to me.	17.65% 3	0.00%	5.88% 1	29.41% 5	47.06% 8	17
27. One religion is as good as another.	29.41% 5	41.18% 7	17.65% 3	11.76% 2	0.00%	17
28. Cheating or lying is OK if done for a good reason.	35.29% 6	17.65% 3	17.65% 3	29.41% 5	0.00%	17
29. There is nothing wrong with getting drunk as long as one doesn't drink and drive.	47.06% 8	17.65% 3	17.65% 3	5.88%	11.76% 2	17
30. God intervened in human history to reveal certain truths that we need to know.	0.00%	0.00%	11.76% 2	35.29% 6	52.94% 9	17
31. The Bible is a reliable source of knowledge about what is right and wrong.	0.00%	5.88%	5.88% 1	41.18% 7	47.06% 8	17
32. Church teaching is based on the revelations of God found primarily in Scripture.	0.00%	0.00%	5.88% 1	41.18% 7	52.94% 9	17
33. The Cross of Christ can give meaning to suffering.	0.00%	0.00%	0.00%	23.53%	76.47% 13	17
34. Homosexual actions cannot lead to the sacred union of sacramental marriage.	5.88% 1	5.88%	17.65% 3	11.76% 2	58.82% 10	17
35. There is nothing wrong with living together before marriage.	17.65% 3	5.88%	17.65% 3	41.18% 7	17.65% 3	17
36. Those who marry should be open to the birth of children.	0.00%	5.88%	5.88% 1	29.41% 5	58.82% 10	17
37. Abortion is wrong.	5.88%	0.00%	5.88% 1	5.88%	82.35% 14	17
38. Abortion should be against the law.	5.88%	0.00%	11.76% 2	5.88%	76.47% 13	17
39. It is OK for a married couple to use contraceptives.	23.53%	23.53%	29.41% 5	17.65% 3	5.88% 1	17
40. The union of a man and a woman in marriage is permanent.	0.00%	11.76% 2	5.88% 1	35.29% 6	47.06% 8	17
41. The Gospels give us an accurate picture of what Jesus said and did.	0.00%	5.88%	0.00%	47.06% 8	47.06% 8	17
42. The Catholic Church provides vital assistance in helping me understand the Bible.	0.00%	5.88%	11.76% 2	41.18% 7	41.18% 7	17
43. Receiving the Eucharist after intentionally missing Mass on Sunday is a serious sin.	0.00%	0.00%	17.65% 3	47.06% 8	35.29% 6	17
44. Unlike scientific facts, religious teachings are just opinions.	47.06% 8	41.18%	5.88% 1	5.88%	0.00%	17
45. People will not find peace by trying to change gender.	0.00%	5.88%	11.76% 2	11.76% 2	70.59% 12	17

46. Living a faithful Catholic life is the surest path to being happy.

5.88%

5.88%

11.76% 23.53% 2 4 52.94%

17

# Q4 Catholic Actions - Practices

Answered: 17 Skipped: 0

	NEVER	SELDOM	SOMETIMES	OFTEN	ALWAYS	TOTAL
47. I attend Mass on Sunday (or Saturday evening).	11.76%	0.00%	5.88%	35.29%	47.06%	TOTAL
47. I attend Mass on Sunday (or Saturday evening).	2	0.00%	3.00%	35.29%	47.00%	17
48. I receive Holy Communion when I go to Mass.	5.88%	0.00%	11.76%	35.29% 6	47.06% 8	17
49. I prepare myself to receive Communion reverently.	11.76% 2	0.00%	35.29% 6	29.41% 5	23.53% 4	17
50. When I go to Mass, I participate by singing and praying aloud.	0.00%	0.00%	29.41% 5	35.29% 6	35.29% 6	17
51. I go to confession with my family or by myself.	11.76%	17.65% 3	41.18% 7	5.88%	23.53%	17
52. I pray with my family before meals.	17.65% 3	5.88%	17.65% 3	23.53% 4	35.29% 6	17
53. I set aside time for daily personal prayer.	11.76%	29.41% 5	35.29% 6	11.76% 2	11.76% 2	17
54. I have damaged a friend's reputation by spreading rumors.	35.29% 6	47.06% 8	17.65% 3	0.00%	0.00%	17
55. I pray the Rosary alone or with my family at home.	52.94% 9	23.53%	17.65% 3	5.88%	0.00%	17
56. My parents help me distinguish between right and wrong.	0.00%	11.76% 2	5.88%	41.18% 7	41.18% 7	17
57. I follow the principles of moral action that I have learned in religion classes.	0.00%	5.88% 1	41.18% 7	41.18% 7	11.76% 2	17
58. My teachers set a good example of Christian life for students.	0.00%	11.76% 2	47.06% 8	11.76% 2	29.41% 5	17
59. I discuss questions of right and wrong with my friends.	5.88%	29.41% 5	29.41% 5	29.41% 5	5.88%	17
60. I show respect for others by listening to what they say.	0.00%	5.88%	11.76% 2	41.18% 7	41.18% 7	17
61. I engage in recreational activities with family members including my parents.	0.00%	5.88%	29.41% 5	23.53% 4	41.18% 7	17
62. I do things that show my loyalty to my friends and family members.	0.00%	0.00%	11.76% 2	35.29% 6	52.94% 9	17
63. I have lied or cheated to avoid getting into trouble.	5.88%	17.65% 3	23.53% 4	47.06% 8	5.88%	17
64. I watch movies that include nudity or sexual encounters.	17.65% 3	5.88% 1	52.94% 9	17.65% 3	5.88%	17
65. I engage in drinking alcohol with my friends.	58.82% 10	5.88%	11.76%	11.76% 2	11.76%	17
66. I am refraining from sexual activity that is reserved for marriage.	17.65% 3	0.00%	11.76%	11.76% 2	58.82% 10	17
67. I have used illegal drugs.	76.47% 13	5.88%	11.76%	0.00%	5.88%	17
68. I have deliberately viewed pornography on the internet.	58.82% 10	17.65% 3	11.76%	5.88%	5.88%	17
69. I seek forgiveness for things that I have done wrong.	0.00%	5.88%	23.53%	35.29% 6	35.29% 6	17
70. I engage in service activities because I believe they are	5.88%	17.65%	35.29%	41.18%	0.00%	

#### Schools - Grade 11 - 2024

important.	1	3	6	7	0	17
71. I help other people who seem to need help.	0.00%	0.00%	35.29%	47.06%	17.65%	
	0	0	6	8	3	17
72. I have freely volunteered to work on community	0.00%	17.65%	29.41%	41.18%	11.76%	
projects.	0	3	5	7	2	17
73. When I promise to do something, I do it.	0.00%	0.00%	23.53%	47.06%	29.41%	
	0	0	4	8	5	17
74. I show respect for my mother and father by doing what	0.00%	0.00%	17.65%	58.82%	23.53%	
they ask.	0	0	3	10	4	17
75. I observe Lent by making sacrifices or praying more.	0.00%	17.65%	23.53%	35.29%	23.53%	
	0	3	4	6	4	17
76. I attend Mass on Holy Days of Obligation like the feast	5.88%	5.88%	17.65%	29.41%	41.18%	
of the Assumption.	1	1	3	5	7	17
77. I am seeking to do what I think God is calling me to do.	0.00%	5.88%	29.41%	29.41%	35.29%	
	0	1	5	5	6	17
78. I have considered whether I have a vocation to the	35.29%	11.76%	11.76%	29.41%	11.76%	
priesthood or religious life.	6	2	2	5	2	17
79. When others have hurt me, I have been able to forgive	5.88%	5.88%	41.18%	17.65%	29.41%	
them.	1	1	7	3	5	17
80. After confession, I ask God to help me break sinful	5.88%	5.88%	11.76%	41.18%	35.29%	
habits.	1	1	2	7	6	17